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4. (7 marks) Find the volume of the region lying over the semidisk x“ +y“ <4, y2>x, and

under the paraboloid z = x2 + y2.
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5. (8 marks) A bus shelter is made in the shape of a rectangular box with no front and no

bottom. The material for the roof costs $5 per m2 and the material for the other three

sides costs $4 per m2. What are the dimensions of the least expensive shelter with a
35

volume of 20 m
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1
6. (6 marks) Kvaluate

2 2\ 2
() R

(0,1)

dxdy where R={(x,y): x2 4 v2s1, x+ vy >1}.
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cylinder x“+y“=9.
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7. (-- marks) Find the surface area of the part of the plane x + 3y - z = 0 lying inside the ‘;
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